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Unit Three 

Group (A)  

1- Choose the correct answer from a, b, c or d: 

1. The storm has caused great.................to the houses. Some of them collapsed 

a) help                   b) profit                      c) damage                       d) interest 

2. Due to drought, there won't be much land available for food...............in the 

future. 

a) affection           b) intention                   c) production                d) inspection 

3. A dentist could put in a temporary filling, but that's not the perfect............ 

a) solution              b) cause                       c) design                     d) plot 

4- Someone’s knocking at the door. I……………………open it. 
a) am seeing           b) will see                    c) am going to see      d) see   
5. By eight o'clock tomorrow, I......................the washing up. 
a) will do       b) will have done        c) do                        d) will be doing 

 

B- Answer the following questions: 

1. Do you think that Albany is happy with his wife Goneril's behavior? Why?  

2. “I still love the King and I'll continue to work hard for him, but he won't know me.” 

What does this tell us about Kent?  

3. “It's better to worry and be safe.” Why does Goneril say this to Albany?  
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Group (B) 
1- Choose the correct answer from a, b, c or d: 
1. We can’t.................the difference between the two shapes. 

a) say                         b) invent                        c) tell                              d) do 

2. No doubt that farmers work longer hours during the …………………………... 

a) crop                        b) harvest                     c) yield                            d) produce  

3. Rugby is an outdoor game but handball is played ---------------------- 

a) indoor                    b) outdoor                    c) indoors                        d) outdoors 

4. You should read this novel. I'm sure that you………………it.  
a) will enjoy               b) are enjoying            c) are going to enjoy        d) enjoy 

5. By the time you get home, I.....................my room.  

a) will clean b) will be cleaning c) will have cleaned  d) am cleaning 

 

 
B- Answer the following questions: 

1. “A friend in need is a friend indeed? Do you agree to this proverb? Why? 

2. Why do you think Lear got angry about everything?                      

3. Oswald was rude to Lear. Illustrate! 
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Group (C)  
1- Choose the correct answer from a, b, c or d: 
1. Scientists warn us that cutting------rainforests has a bad effect on the planet. 
a) in                           b) at                               c) for                            d) down 

2. In my point of......... doing regular exercise is very useful. 

a) view                      b) sight                           c) scene                       d) scenery 

3. Do you think learning online can ----------------- learning at schools? 

a) place                      b) displace                     c) replace                    d) replacement. 

4.My brother .................. married next week. Would you like to come to the party? 
a) will have got          b) is getting                  c) will get                  d) got 
5.We ...................the play by the end of this week. 
a) read   b) will be reading   c) will have read          d) are reading 

 

B- Answer the following questions: 

1. Albany was wiser than Goneril. Explain!                                               

2. Kent was always ready to defend King Lear. Give an example to prove this. 

3. “My lady's father? How rude!” Why was King Lear angry with Oswald?  

 

 

 

 

 مع أطيب تمنياتنا للجميع بالتوفيق  


